

COMMUTATIVE MONOIDS ON ALGEBRAIC SUM AND ALGEBRAIC PRODUCT OVER BIPOLAR FUZZY SET AND BIPOLAR FUZZY MATRICES

T. MUTHURAJI¹ AND R. PUNITHA² ¹Department of Mathematics, Annamalai University, Deputed to Government Arts College, Chidambaram, Tamilnadu, India. Email id: <u>tmuthuraji@gmail.com</u> ²Department of Mathematics, Annamalai University, Chidambaram, Tamilnadu, India. Email id: <u>punitharajney@gmail.com</u> **DOI: 10.48047/ecb/2023.12.si4.1673**

ABSTRACT

An extension of fuzzy set, called Bipolar fuzzy set with positive and negative membership values, whose membership degree range is [-1,1]. Bipolar fuzzy set have potential impacts on many fields, including artificial intelligence, computer science, decision science etc. In this paper, we introduce the algebraic sum \oplus and algebraic product \odot on Bipolar fuzzy set and Bipolar fuzzy matrices and prove that the set of all Bipolar fuzzy set and Bipolar fuzzy matrices form a commutative monoids over the above operations. In addition we discuss some properties like reflexive, symmetric, associative of the operators.

Keywords and Phrases: Bipolar Fuzzy Set (BFS), Bipolar Fuzzy Matrix (BFM).

1. Introduction

Zadeh [15] introduced the concept of a fuzzy set in 1965, as the generalization of a crisp set. Operations of fuzzy sets are union, intersection, complement, algebraic sum and algebraic product. Fuzzy sets and their applications to automata theory, logic, control, game, topology, pattern recognition, taxonomy etc. Algebraic sum and algebraic product are also used in the study of fuzzy events by Zadeh [16]. Fuzzy matrices are introduced for the first time by Thomason [14] in 1977. It plays a vital role in scientific development. Some Results on Fuzzy Matrices are discussed by Gilchrist in 2019. [2]. The theories of fuzzy matrices are developed by Kim and Roush [3] as an extension of Boolean matrices. Meenakshi [7] deals with \mathcal{F}_{mn} , the set of all $m \times n$ fuzzy matrices over the fuzzy algebra $\mathcal{F}=[0,1]$ under the max-min operations and with the usual ordering of real numbers. Punithavalli [10] discussed the concept of Symmetric and centro Symmetric fuzzy matrices in 2021. Atanossov [1] introduced theory of intuitionistic fuzzy set as generalization of fuzzy set. Muthuraji T and Sriram S [8, 9] deals with commutative monoids on lukasiwicz conjunction and disjunction operators over Intuitionistic fuzzy matrices in 2015. And also discussed commutative Monoid on symmetrical difference operator over Intuitionistic Fuzzy Matrices in 2020. Silambarasan [12] introduced the concept of algebraic sum and algebraic product of picture fuzzy matrices in 2020.

Bipolar fuzzy set is introduced by Zhang in 1994.[17, 18]. Bipolar fuzzy set theory becomes popular due to its wide applications to model real life situation. Bipolar logic is also used to represent bistable devices in computer and communication systems. Advantages of bipolar fuzzy sets are formalizes a unified approach to polarity and fuzziness. It captures two sided nature of human perception and cognition. In recent years bipolar fuzzy sets seem to have been studied and applied a bit enthusiastically and a bit increasingly. Madhumangal Pal and Sanjib Mondal [5] introduced the concepts of bipolar fuzzy matrices over bipolar fuzzy algebra and bipolar fuzzy relation. Bipolar fuzzy matrix is now essential to model and solve the problem containing bipolar information. Bipolar intuitionistic fuzzy matrices are discussed by Lalitha and Dhivya.[4].

Fuzzy sets and their operations are discussed by Mizumoto [6]. Two binary operators which is algebraic sum and algebraic product on fuzzy matrices are discussed by shyamal AK and Madhumangal pal in 2004[11]. Sriram S and Boobalan J [13] are studied the monoids on intuitionistic fuzzy matrices in 2015. The intuitionistic fuzzy matrices have the condition when add the membership and non membership elements it should be the values between 0 to 1. But the bipolar does not have the condition. In this paper, we study more results of algebraic operators in related to bipolar fuzzy sets are extended to bipolar fuzzy matrices and also its algebraic properties.

2. Preliminaries

In this section, we recollect some basic definitions and properties will be refer later.

Definition 2.1 (Fuzzy Set) [6]

A fuzzy set A in a universe of discourse U is characterized by a membership function μ_A which takes the values in the unit interval [0,1] i.e.,

$$\mu_A:: \boldsymbol{U} \rightarrow [0,1]$$

The value of μ_A at $u \in U$, $\mu_A(u)$ represent the grade of membership (grade for short) of u in A and is a point in [0,1].

Definition 2.2 (Fuzzy Matrix) [2]

Let A be an $n \times m$ matrix defined by

A=	a_{11}	a_{12}	••••	<i>a</i> ₁ 2]
	a_{21}	a_{22}	•••	a_2 ?
	:	:	·.	:
	$a \mathbb{P}_1$	$a \mathbb{P}_2$	•••	a??]

The matrix A is a Fuzzy matrix if and only if $a_{ij} \in [0,1]$ for $1 \le i \le n$ and $1 \le j \le m$. In other words, any $n \times m$ matrix A is a fuzzy matrix if the elements of A are in the interval [0,1].

Definition 2.3 (Bipolar fuzzy Set) [5]

A Bipolar fuzzy set $\boldsymbol{\mathcal{B}}_{F}$ in X (universe of discourse) is an object having the form

 $\boldsymbol{\mathcal{B}}_{\mathrm{F}} = \{(x, \mu_{\mathrm{n}}(x) \mu \Box (x))\}$

where $\mu_n: X \to [-1,0]$ and $\mu \Box : X \to [0,1]$ are two mappings.

The positive membership degree $\mu \oplus (x)$ denotes the satisfaction degree of an element x to the property corresponding to a BFS \mathcal{B}_{F} , and the negative membership degree $\mu_{n}(x)$ denotes the satisfaction degree of x to some implicit counter-property of \mathcal{B}_{F} .

Definition 2.4 (Different types of Bipolar Fuzzy set) [5]

- (i) The Zero element of a BFS is denoted by $o_b = (0,0)$
- (ii) The Unit element of a BFS is denoted by $i_b = (-1,1)$.
- (iii) The Identity element of a BFS in respect to serial conjunction is denoted by e_b and is defined by $e_b = (0,1)$.

Definition 2.5 (Bipolar Fuzzy Matrix) [5]

Let $A = (a_{ij})_{\times m} \in \mathcal{M}_{lm}$, then $a_{ij} = (-a_{ijn}, a_{ijp}) \in \mathcal{B}_F$, where $a_{ijn}, a_{ijp} \in [0,1]$ are the negative and positive membership values of the element a_{ij} , respectively.

Definition 2.6 (Different types of Bipolar Fuzzy matrix) [5]

- (i) The Zero matrix O_m of order $m \times m$ is the matrix where all the elements are $o_b = (0,0)$
- (ii) The Identity matrix I_m of order $m \times m$ is the matrix where all the diagonal entries are $i_b = (-1,1)$ and all other entries are $o_b = (0,0)$.
- (iii) The Unit matrix J_m of order $m \times m$ is the matrix where all the elements are $J_m = (-1, 1)$.

Definition 2.7 (operations on Bipolar Fuzzy Matrix) [5]

Let A = (a_{ij}) , B = $(b_{ij}) \in \mathcal{M}_{lm}$ be two BFMs. Therefore a_{ij} , $b_{ij} \in \mathcal{B}_{F}$, then,

- (i) $A+B = (a_{ij}+b_{ij})_{l\times m} = (-\max\{a_{ijn}b_{ijn}\}, \max\{a_{ijp}b_{ijp}\}_{l\times m}$
- (ii) $A \cdot B = (a_{ij} \cdot b_{ij})_{l \times m} = (-\min\{a_{ijn} \cdot b_{ijn}\}, \min\{a_{ijp} \cdot b_{ijp}\}_{l \times m}$
- (iii) $A^c = (-a_{ijn}, a_{ijp})^c = (-(1-a_{ijn}), 1-a_{ijp})$
- (iv) Let \mathcal{B}_F be a BFM_s over X and let $A, B \in \mathcal{B}_F$ where $A = (-a_{ijn}, a_{ijp})$ and $B = (-b_{ijn}, b_{ijp})$, then $A \leq B$ if and only if $a_{ijn} \leq b_{ijn}$ and $a_{ijp} \leq b_{ijp}$. That is $A \leq B$ if and only if A + B = B.

Definition 2.8 (Algebraic sum and Algebraic product on Fuzzy matrix) [11]

Let $A = [a_{ij}], B = [b_{ij}]$ be two fuzzy matrices of order $m \times n$. Then (i) $A \oplus B = [a_{ij} + b_{ij} - a_{ij} b_{ij}]$ (ii) $A \odot B = [a_{ij} b_{ij}]$

3. Some Results

In this section, we introduce two operators namely algebraic sum and algebraic product on Bipolar fuzzy sets and also Bipolar fuzzy matrices.

Definition 3.1

Let A, $B \in BFS$ (Bipolar fuzzy set) where A= $(-x_n, x_p)$ and $B = (-y_n, y_p)$ then $A \oplus B = [-(x_n+y_n - x_n y_n), (x_p+y_p - x_p y_p)]$ $A \oplus B = [-(x_ny_n), (x_py_p)]$

Definition 3.2

Let A, $B \in BFM$ (Bipolar fuzzy matrix) where A= $(-a_{ijn}, a_{ijp})$ and $B = (-b_{ijn}, b_{ijp})$ then $A \oplus B = \{-(a_{ijn}+b_{ijn}-a_{ijn}, b_{ijn}), (a_{ijp}+b_{ijp}-a_{ijp}, b_{ijp})\}$ $A \oplus B = \{-(a_{ijn}, b_{ijn}), (a_{ijp}, b_{ijp})\}$

Theorem 3.1

If A and B are BFS, then Operations \bigoplus and \bigcirc are commutative. (i) $A \bigoplus B = B \bigoplus A$ (ii) $A \bigcirc B = B \odot A$

Proof:

A = $(-x_n, x_p)$ and $B = (-y_n, y_p)$ (i) LHS $A \oplus B = (-x_n, x_p) \oplus (-y_n, y_p)$ $A \oplus B = [-(x_n+y_n-x_n y_n), (x_p+y_p-x_py_p)]$ (3.1) RHS $B \oplus A = (-y_n, y_p) \oplus (-x_n, x_p)$ $B \oplus A = [-(x_n+y_n-x_n y_n), (x_p+y_p-x_py_p)]$ (3.2) From (3.1) and (3.2) we get. Similarly we can prove $A \odot B = B \odot A$

Theorem 3.2 (De morgan's law)

If A and B are BFS, then (i) $(A \oplus B)^c = A^c \odot B^c$ (ii) $(A \odot B)^c = A^c \oplus B^c$ **Proof:** (i) LHS $A \oplus B = \left[-(x_n + y_n - x_n y_n), (x_p + y_p - x_p y_p) \right]$ $(A \oplus B)^{c} = [-(x_{n}+y_{n}-x_{n}y_{n}), (x_{p}+y_{p}-x_{p}y_{p})]^{c}$ $= [-(1-(x_n+y_n-x_ny_n)), 1-(x_p+y_p-x_py_p)]$ (3.3)RHS $\mathbf{A} = (-x_n, x_p)$ $A^c = (-x_n, x_p)^c$ $= (-(1-x_n), 1-x_p)$ $B = (-y_n, y_p)$ $B^{c} = (-y_n, y_p)^{c}$ $= (-(1-y_n), 1-y_p)$ $A^{c} \odot B^{c} = [(-(1-x_{n})), (1-x_{p}) \odot (-(1-y_{n})), (1-y_{p})]$ $= [-((1-x_n)(1-y_n)), (1-x_p)(1-y_p)]$ $= [-(1 - x_n - y_n + x_n y_n), (1 - x_p - y_p + x_p y_p)]$ $= [-(1-(x_n+y_n-x_ny_n)), 1-(x_p+y_p-x_py_p)]$ (3.4)From (3.3) and (3.4) we get Similarly we can prove $(A \odot B)^c = A^c \oplus B^c$

Theorem 3.3

If A be an BFS then O=(0,0) be the identity BFS with respect to \oplus and e=(-1,1) be the identity BFS with respect to \odot . Then (i) $A \oplus O = O \oplus A = A$ (ii) $A \odot e = e \odot A = A$

Proof:

(i)
$$A = (-x_n, x_p)$$

 $A \oplus 0 = (-x_n, x_p) \oplus (0,0)$
 $= \{-(x_n+0-0), (x_p+0-0)\}$
 $= (-x_n, x_p)$
 $= A$

Similarly we can prove $O \oplus A = A$

(ii)
$$A \odot \boldsymbol{e} = (-x_n, x_p) \odot (-1, 1)$$

= $(-x_n, x_p)$
=A

Similarly we can prove $e \odot A = A$.

Theorem 3.4 (Associative law)

If A, B and C are BFS, Then (i) $(A \oplus B) \oplus C = A \oplus (B \oplus C)$ (ii) $(A \odot B) \odot C = A \odot (B \odot C)$ **Proof:** (i) LHS = $(A \oplus B) \oplus C$ = $\{-(x_n+y_n - x_n y_n), (x_p+y_p - x_p y_p) \oplus (-z_n, z_p)\}$ = $\{-(x_n+y_n - x_n y_n \oplus z_n), (x_p+y_p - x_p y_p \oplus z_p)\}$ = $\{-((x_n+y_n - x_n y_n) + z_n - (x_n+y_n - x_n y_n)(z_n)), (x_p+y_p - x_p y_p) + z_p - (x_p+y_p - x_p y_p)(z_p)\}$ = $\{-(x_n+y_n+z_n - x_n y_n - x_n z_n - y_n z_n + x_n y_n z_n), (x_p+y_p + z_p - x_p y_p - x_p z_p - y_p z_p + x_p y_p z_p)\},$ (3.5) RHS = $A \oplus (B \oplus C)$ = $\{(-x_n, x_p) \oplus -(y_n+z_n - y_n z_n), (y_p+z_p - y_p z_p)\}$

$$=\{-(x_{n} \oplus y_{n} + z_{n} - y_{n} z_{n}), (x_{p} \oplus y_{p} + z_{p} - y_{p} z_{p})\}$$

$$=\{-((x_{n}) + (y_{n} + z_{n} - y_{n} z_{n}) - (x_{n})(y_{n} + z_{n} - y_{n} z_{n})), (x_{p}) + (y_{p} + z_{p} - y_{p} z_{p}) - (x_{p})(y_{p} + z_{p} - y_{p} z_{p})\}$$

$$=\{-(x_{n} + y_{n} + z_{n} - y_{n} z_{n} - x_{n} y_{n} - x_{n} z_{n} + x_{n} y_{n} z_{n}), (x_{p} + y_{p} + z_{p} - y_{p} z_{p} - x_{p} y_{p} - x_{p} z_{p} + x_{p} y_{p} z_{p})\}$$

$$(3.6)$$

From (3.5) and (3.6) we get.

(ii) LHS =
$$(A \odot B) \odot C$$

= $\{-(x_n y_n), (x_p y_p) \odot (-z_n, z_p)\}$
= $\{-(x_n y_n \odot z_n), (x_p y_p \odot z_p)\}$
= $\{-(x_n y_n z_n), (x_p y_p z_p)\}$ (3.7)
RHS = $A \odot (B \odot C)$
= $\{(-x_n, x_p) \odot (-(y_n z_n)), (y_p z_p)\}$
= $\{-(x_n \odot y_n z_n), (x_p \odot y_p z_p)\}$
= $\{-(x_n y_n z_n), (x_p y_p z_p)\}$ (3.8)
From (3.7) and (3.8) we get.

Theorem 3.5

If A and B are BFMs of same order, then

(i) $A \oplus B = B \oplus A$

(ii) $A \odot B = B \odot A$

Operations \oplus and \odot are commutative.

Proof:

A = $(-a_{ijn}, a_{ijp})$ and B = $(-b_{ijn}, b_{ijp})$ (i) LHS $A \oplus B = (-a_{ijn}, a_{ijp}) \oplus (-b_{ijn}, b_{ijp})$ $A \oplus B = [-(a_{ijn}+b_{ijn}-a_{ijn}, b_{ijn}), (a_{ijp}+b_{ijp}-a_{ijp}b_{ijp})]$ (3.9) RHS $B \oplus A = (-b_{ijn}, b_{ijp}) \oplus (-a_{ijn}, a_{ijp})$ $B \oplus A = [-(a_{ijn}+b_{ijn}-a_{ijn}, b_{ijn}), (a_{ijp}+b_{ijp}-a_{ijp}, b_{ijp})]$ (3.10) From (3.9) and (3.10) we get. Similarly we can prove $A \odot B = B \odot A$

Theorem 3.6 (De morgan's law)

If A and B are BFMs of same order, then (i) $(A \oplus B)^c = A^c \odot B^c$ (ii) $(A \odot B)^c = A^c \oplus B^c$ **Proof:** (i) LHS $A \oplus B = [-(a_{ijn}+b_{ijn}-a_{ijn}, b_{ijn}), (a_{ijp}+b_{ijp}-a_{ijp}, b_{ijp})]$ $(A \oplus B)^{c} = [-(a_{ijn}+b_{ijn}-a_{ijn}, b_{ijn}), (a_{ijp}+b_{ijp}-a_{ijp}, b_{ijp})]^{c}$ = $[-(1-(a_{ijn}+b_{ijn}-a_{ijn}b_{ijn})), 1-(a_{ijp}+b_{ijp}-a_{ijp}b_{ijp})]$ (3.11)RHS A = $(-a_{iin}, a_{iip})$ $A^{c} = (-a_{ijn}, a_{ijp})^{c}$ $= (-(1-a_{ijn}), 1-a_{ijp})$ $B = (-b_{ijn}, b_{ijp})$ $B^{\rm c} = (-b_{iin}, b_{iip})^{\rm c}$ = (-(1- b_{ijn}), 1- b_{ijp}) $A^{c} \odot B^{c} = [-(1-a_{ijn}), 1-a_{ijp} \odot -(1-b_{ijn}), 1-b_{ijp}]$ $= [-((1-a_{ijn}) (1-b_{ijn})), (1-a_{ijp}) (1-b_{ijp})]$ $= [-(1-a_{ijn}-b_{ijn}+a_{ijn}b_{ijn}),(1-a_{ijp}-b_{ijp}+a_{ijp}b_{ijp})]$ = $[-(1-(a_{ijn}+b_{ijn}-a_{ijn}, b_{ijn})), 1-(a_{ijp}+b_{ijp}-a_{ijp}, b_{ijp})]$ (3.12)From (3.11) and (3.12) we get Similarly we can prove $(A \odot B)^c = A^c \oplus B^c$

Theorem 3.7

If A be an BFMs then O=(0,0) be the identity BFMs with respect to \oplus and e=(-1,1) be the identity BFMs with respect to \odot . Then (i) $A \oplus O = O \oplus A = A$ (ii) $A \odot e = e \odot A = A$ **Proof:** (i) $A = (-a_{ijn}, a_{ijp})$ $A \oplus O = (-a_{ijn}, a_{ijp}) \oplus (0,0)$

 $= \{-(a_{ijn}+0-0), (a_{ijp}+0-0)\} \\= (-a_{ijn}, a_{ijp}) \\= A$

Similarly we can prove $0 \oplus A = A$

(ii) $A \odot \boldsymbol{e} = (-a_{ijn}, a_{ijp}) \odot (-1, 1)$ = $(-a_{ijn}, a_{ijp})$ =A

Similarly we can prove $e \odot A = A$.

Theorem 3.8

If A, B and C are BFMs of same order, then (i) $(A \oplus B) \oplus C = A \oplus (B \oplus C)$ (ii) $(A \odot B) \odot C = A \odot (B \odot C)$ **Proof:** (i) LHS= $(A \oplus B) \oplus C$ $= \{-(a_{ijn}+b_{ijn}-a_{ijn}b_{ijn}), (a_{ijp}+b_{ijp}-a_{ijp}b_{ijp}) \oplus (-c_{ijn},c_{ijp})\}$ $= \{-(a_{ijn}+b_{ijn}-a_{ijn} b_{ijn} \oplus c_{ijn}), (a_{ijp}+b_{ijp}-a_{ijp} b_{ijp} \oplus c_{ijp})\}$ $= \{-((a_{ijn}+b_{ijn}-a_{ijn} b_{ijn}) + c_{ijn}-(a_{ijn}+b_{ijn}-a_{ijn} b_{ijn})(c_{ijn})\},\$ $(a_{ijp}+b_{ijp}-a_{ijp}b_{ijp})+c_{ijp}-(a_{ijp}+b_{ijp}-a_{ijp}b_{ijp})(c_{ijp})$ $= \{-(a_{ijn}+b_{ijn}+c_{ijn}-a_{ijn}b_{ijn}-a_{ijn}c_{ijn}-b_{ijn}c_{ijn}+a_{ijn}b_{ijn}c_{ijn}),\$ $(a_{ijp}+b_{ijp}+c_{ijp}-a_{ijp}b_{ijp}-a_{ijp}c_{ijp}-b_{ijp}c_{ijp}+a_{ijp}b_{ijp}c_{ijp})$ (3.13)RHS = $A \oplus (B \oplus C)$ $=\{(-a_{ijn}a_{ijp}) \oplus -(b_{ijn}+c_{ijn}-b_{ijn}c_{ijn}), (b_{ijp}+c_{ijp}-b_{ijp}c_{ijp})\}$ ={-($a_{ijn} \oplus b_{ijn} + c_{ijn} - b_{ijn} c_{ijn}$), ($a_{ijp} \oplus b_{ijp} + c_{ijp} - b_{ijp} c_{ijp}$)} $= \{-((a_{ijn}) + (b_{ijn} + c_{ijn} - b_{ijn} c_{ijn}) - (a_{ijn})(b_{ijn} + c_{ijn} - b_{ijn} c_{ijn})), \}$ $(a_{ijp})+(b_{ijp}+c_{ijp}-b_{ijp}c_{ijp})-(a_{ijp})(b_{ijp}+c_{ijp}-b_{ijp}c_{ijp})$ $=\{-(a_{ijn}+b_{ijn}+c_{ijn}-b_{ijn}c_{ijn}-a_{ijn}b_{ijn}-a_{ijn}c_{ijn}+a_{ijn}b_{ijn}c_{ijn}),\$ $(a_{ijp}+b_{ijp}+c_{ijp}-b_{ijp}c_{ijp}-a_{ijp}b_{ijp}-a_{ijp}c_{ijp}+a_{ijp}b_{ijp}c_{ijp})$ (3.14)From(3.13) and (3.14) we get

(ii) LHS =
$$(A \odot B) \odot C$$

={- $(a_{ijn} b_{ijn}), (a_{ijp} b_{ijp}) \odot (-c_{ijn}, c_{ijp})$ }
={- $(a_{ijn} b_{ijn} \odot c_{ijn}), (a_{ijp} b_{ijp} \odot c_{ijp})$ }
={- $(a_{ijn} b_{ijn} c_{ijn}), (a_{ijp} b_{ijp} c_{ijp})$ }
RHS = $A \odot (B \odot C)$
={ $(-a_{ijn} a_{ijp}) \odot -(b_{ijn} c_{ijn}), (b_{ijp} c_{ijp})$ }
={ $-(a_{ijn} \odot b_{ijn} c_{ijn}), (a_{ijp} \odot b_{ijp} c_{ijp})$ }
={ $-(a_{ijn} b_{ijn} c_{ijn}), (a_{ijp} b_{ijp} c_{ijp})$ }
(3.16)
From (3.15) and (3.16) we get.

Theorem3.9

If A and *B* are BFMs of Symmetric where $A = (-a_{ijn}, a_{ijp})$ and $B = (-b_{ijn}, b_{ijp})$, then $(-a_{ijn}, a_{ijp}) = (-a_{jin}, a_{jip})$ and $(-b_{ijn}, b_{ijp}) = (-b_{jin}, b_{jip})$ be the ij^{th} elements of $A \oplus B$ and $(A \odot B)$.

Proof:

$$A \oplus B = \{-(a_{ijn}+b_{ijn}-a_{ijn} b_{ijn}), (a_{ijp}+b_{ijp}-a_{ijp} b_{ijp})\} \\ = \{-(a_{jin}+b_{jin}-a_{jin} b_{jin}), (a_{jip}+b_{jip}-a_{jip} b_{jip})\} \\ = \{-(a_{jin}, a_{jip})\} \\ A \odot B = \{-(a_{ijn}, b_{ijn}), (a_{ijp}, b_{ijp})\} \\ = \{-(a_{jin}, b_{jin}), (a_{jip}, b_{jip})\} \\ = \{-(a_{jin}, b_{jin}), (a_{jip}, b_{jip})\}$$

Proposition 3.1

If A, B and C are BFMs of same order, then (i) $A \oplus (B \odot C) \neq (A \oplus B) \odot (A \oplus C)$ (ii) $A \odot (B \oplus C) \neq (A \odot B) \oplus (A \odot C)$ Distributive law is not satisfied. We illustrate the Distributive law by the following example.

Proof:

(i)LHS= $A \oplus (B \odot C)$

$$A = \begin{bmatrix} (-0.2,0.3) & (-0.4,0.6) \\ (-0.1,0.5) & (-0.3,0.6) \end{bmatrix}$$
$$B = \begin{bmatrix} (-0.1,0.6) & (-0.7,0.2) \\ (-0.8,0.3) & (-0.2,0.5) \end{bmatrix}$$
$$C = \begin{bmatrix} (-0.2,0.5) & (-0.6,0.5) \\ (-0.9,0.1) & (-0.1,0.4) \end{bmatrix}$$
$$(B \odot C) = \begin{bmatrix} (-0.02,0.3) & (-0.42,0.1) \\ (-0.72,0.03) & (-0.02,0.2) \end{bmatrix}$$

 $A \oplus (B \odot C) = \begin{bmatrix} (-0.21, 0.51) & (-0.65, 0.64) \\ (-0.74, 0.51) & (-0.31, 0.68) \end{bmatrix}$

 $RHS = (A \oplus B) \odot (A \oplus C)$

$$(A \oplus B) = \begin{bmatrix} (-0.28, 0.72) & (-0.82, 0.68) \\ (-0.82, 0.65) & (-0.44, 0.8) \end{bmatrix}$$

$$(A \oplus C) = \begin{bmatrix} (-0.36, 0.65) & (-0.76, 0.8) \\ (-0.91, 0.55) & (-0.37, 0.76) \end{bmatrix}$$

 $(A \oplus B) \odot (A \oplus C) = \begin{bmatrix} (-0.10, 0.46) & (-0.62, 0.54) \\ (-0.74, 0.35) & (-0.16, 0.60) \end{bmatrix}$ therefore $A \oplus (B \odot C) \neq (A \oplus B) \odot (A \oplus C)$ Again,

(ii) LHS= $A \odot (B \oplus C)$

$$(B \oplus C) = \begin{bmatrix} (-0.28, 0.8) & (-0.88, 0.6) \\ (-0.98, 0.37) & (-0.28, 0.7) \end{bmatrix}$$

$$A \odot (B \oplus C) = \begin{bmatrix} (-0.05, 0.24) & (-0.35, 0.36) \\ (-0.09, 0.18) & (-0.08, 0.42) \end{bmatrix}$$

 $RHS=(A \odot B) \oplus (A \odot C)$

$$(A \odot B) = \begin{bmatrix} (-0.02, 0.18) & (-0.28, 0.12) \\ (-0.08, 0.15) & (-0.06, 0.3) \end{bmatrix}$$

$$(A \odot C) = \begin{bmatrix} (-0.04, 0.15) & (-0.24, 0.3) \\ (-0.09, 0.05) & (-0.03, 0.24) \end{bmatrix}$$

$$(A \odot B) \oplus (A \odot C) = \begin{bmatrix} (-0.05, 0.30) & (-0.45, 0.38) \\ (-0.16, 0.19) & (-0.08, 0.46) \end{bmatrix}$$

Therefore $A \odot (B \oplus C) \neq (A \odot B) \oplus (A \odot C)$

Proposition 3.2

(i)

If A, B and C are BFMs of same order, then (i) $A \bigoplus (A \odot B) \ge A$ (ii) $A \odot (A \oplus B) \le A$ **Proof:**

$$A = \begin{bmatrix} (-0.2,0.3) & (-0.4,0.6) \\ (-0.1,0.5) & (-0.3,0.6) \end{bmatrix}$$
$$B = \begin{bmatrix} (-0.1,0.6) & (-0.7,0.2) \\ (-0.8,0.3) & (-0.2,0.5) \end{bmatrix}$$
$$(A \odot B) = \begin{bmatrix} (-0.02,0.18) & (-0.28,0.12) \\ (-0.08,0.15) & (-0.06,0.30) \end{bmatrix}$$

$$A \oplus (A \odot B) = \begin{bmatrix} (-0.21, 0.42) & (-0.56, 0.64) \\ (-0.17, 0.57) & (-0.34, 0.72) \end{bmatrix}$$

Therefore $A \oplus (A \odot B) \ge A$

(ii)
$$(A \oplus B) = \begin{bmatrix} (-0.28, 0.72) & (-0.82, 0.68) \\ (-0.82, 0.65) & (-0.44, 0.8) \end{bmatrix}$$

$$A \odot (A \oplus B) = \begin{bmatrix} (-0.05, 0.21) & (-0.32, 0.40) \\ (-0.08, 0.32) & (-0.13, 0.48) \end{bmatrix}$$

Therefore $A \odot (A \oplus B) \le A$

4. Conclusion:

Bipolar is an important topics in several domains. In this topic we introduce the set of all BFS and BFMs with respect to the algebraic sum and algebraic product form a commutative monoid, and also satisfy the De morgan's law. Both operations does not satisfy distributivity. In future some more properties are going to be discussed.

Reference

- [1] Atanassov K.T, Intuitionistic fuzzy set, Fuzzy Sets and System 20 (1986) 87-96.
- [2] Clayton Gilchrist , Some Results on Fuzzy Matrices, Department of Mathematics, Georgia College, Milledgeville, GA 31061, 2019.
- [3] Kim KH and Roush FW (1980) Generalised fuzzy matrices. Fuzzy Sets System 4:293-315.
- [4] Lalitha K and Dhivya T, Bipolar Intuitionistic Fuzzy Matrices, Indian journal of Natural Sciences, Vol.12/Issue 69/ December/2021.
- [5] Madhumangal Pal and Sanjib Mondal, Bipolar fuzzy matrices, Springer-verlag GmbH Germany Part of Springer (2019).
- [6] Masaharu Mizumoto and Tanaka, Fuzzy Sets and Their Operations, information and control 48, 30-48, 1981.
- [7] Meenakshi AR, Fuzzy matrix theory and applications, MJP Publishers, Chennai 2008.
- [8] Muthuraji.T and Sriram S, Commutative Monoids and Monoid Homomorphism on Lukasiwicz conjunction and Disjunction operators over Intuitionistic Fuzzy Matrices, International J of Pure and Engg, Mathematics (IJPEM) ISSN 2348-3881, Vol.3 No11 August 2015. PP 63-75
- [9] Muthuraji T, Commutative Monoid on Symmetrical Difference operator over Intuitionistic Fuzzy Matrices 2020.
- [10] Punithavalli G, Symmetric , centro Symmetric Fuzzy matrices, Journal of Physics, conference series 1724 (1) 012053 2021.
- [11] Shyamal AK and Madhumangal Pal (2004), Two new operations on fuzzy matrices. J Appl Math Comput 15 (1-2) 91-107.
- [12] Silambarasan I, Department of Mathematics, Annamalai University, Some Algebraic structures of Picture Fuzzy Matrices 2020.
- [13] Sriram S and Boobalan J, Monoids of intuitionistic fuzzy matrices, Annals of Fuzzy Mathematics and Informatics. September 2015.
- [14] Thomason MG, (1977) Convergence of Powers of a fuzzy matrix. J Math Anal Appl 57: 476-480.
- [15] Zadeh L.A., Fuzzy Sets, Journal of information and control, 8(1965) 338-353.
- [16] Zadeh L.A. (1968), Probability measures of fuzzy events, J Math. Anal, Appl 23, 421.
- [17] Zhang W (1994) Bipolar fuzzy sets and relations: a computational framework for cognitive modeling and multiagent decision analysis In IEEE. PP 305-309.
- [18] Zhang W (1998) Bipolar Fuzzy sets. In: Proceesings of IEEE world congress on computational science-fuzz-IEEE, Anchorage, AK, PP 835-840.